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           Assignment 

1. Discuss the following; 

a.) over population 

b.) optimum population 

c.) under population 

2. explained the concept of Spartial Interaction in migration.

   Answer 

1 A.) Over population: this occurs when the optimum population is exceeded. It is a sItuation whereby the available resources are not sufficient  to cater for the existing population. It occurs when the basic resources are so limited and population is ever increasing.

 B.)  optimum population: it also refers to as optimum carrying capacity. It is the greatest number of people that an area can support at a given standard of living.

It is characterized by young and wealth labour force, rising income level improving entrepreneur,good basic frastructure, expanding home and export market  equitable share of investment as well as political stability.

 C.)  under population: It is too small, therefore unable to fully utilize the available resources endowement.

It is characterized by situation where the available resources are capable of supporting a much larger population with no reduction in living standard.

2.the concept of spatial interaction in migration: spatial interaction refers to as Dynamic  flows process from one Location  to another.  It is general concept that may refer to  the movement of human beings such as intra-urban commuters or intercontinential migration but may also refers to  traffic in good such as raw materials or to flows of intangibles such as information. 

It hence that the migration,  Edward Ullman's in 1956, he propounded  "concept of spatial interaction" which becomes the shortest. The three basic for spatial interaction to occur; 

a.) complementarity 

b.)  Intervening Opportunity

c.)  trasferability 

(i.) Complementarity: this refers to as the presence of a demand or deficit at one location and supply or surplus at another without which there is no economic rationale for any movement.

It is the surplus of deposit of one end and the other end or commodity specific domestics. 

(ii.) Intervening opportunity: It is bases for interaction although it typically is considered as the reason for a lack of interaction between two complementary location. 

(iii.) Trasferability: this refers to the cost of overcoming distance measured in real economics terms of either time or travel cost.

It relates to the easy or possibility of movement of an object from one place to another. 

